RERMUKXFP(AXRFrNRBUR U HIRFREF(ELR  EHER)

AERSE
SRSHEE (BF3HE4H1H~SF44E3H31H %))
ERy N f i
CR D IFFEE DT B 75 A FRGETITE L Bl O R &5,
. CR2) 1T M, AL D7D PR B IXIGfRERIN T 5,
HE G - 1[E5r &% =F X m FEAR (M AR YIVIE T =10 &5 X FllE
TG X5 it Ak yS T m AL | 1% | FREEK F
R RAE 5.0 [A], 38 1.0 =X 246
R4 LI ,itﬁﬁ%%\# 2.0 [a/5#| 2,958.9 ni 97
1155 AT 5.0 Al 8 0.0 ni 246
BB EE 1.0 =8| 3,174.4 nt 51
I # 5 2.0 [al/3#| 17,567.5 ni 97
b LA RSy [FEE] G%1)| 5.0 || 2,669.9 m 195
1154812585 EFr | 5.0 I8l 386.2 mni 246
T = - 1.0 [a,58| 7,480.3 nd 51
. [/l 455 (% Py 3.0 [Al,/# 1.8 ni 149
BHEF 1.0 [\, 927.8 m 51
et K I #5 2.0 [A/3#| 1,424.8 nd 97
Ry (=] %)) 5.0 [B8 469.2 i 195
Ji e 1.0 A58 146.5 i 51
ARESRIKM e R 3 1.0 [=],/3# 335.5 ni 51
[y AR 2.0 A/ 282.4 m 97
2y —h- BT 0y s | 3R 2.0 [@,/#| 2,491.7 nf 97
= eI 1.0 8], 34.0 i 51
| L G¥2)| 5.0 [\ 7| 1,264.8 m 195
= | mpn (3%2)| 5.0 [B] 369.2 m 195
S8R 1H (R -7F) 3.0 Al 38 220.0 & 149
g Ok -7F) (11 125-4E) 5.0 [al,/# 41.0 & 246
fEEE (OR-7F)  (FAF) 1.0 [=] /3 78.0 i 51
(EES TGN ) 3.0 [al,/3# 0.0 & 149
flEsdE (k- Fn) (11 - 125-6F) 5.0 [a],/ 3 5.0 & 246
fEatE () 3.0 Al 38 138.0 1 149
o | AR U (11 - 1258 3.0 [A],/ 3 35.0 f# 149
GRS 3.0 [B/3|  218.0 4 149
E s (FAEFR) 1.0 =],/ 78.0 #H 51
= 15 AL PR 3.0 [A]/ 153.0 #fT 149
1HILER (%) 1.0 [=] /i 14.0 # 51
MUy~ =N —1 78 3.0 A3 266.0 7 FT 149
MUybN=N—fli T8 (5 1.0 [=],/38 78.0 AT 51
T VA A 7o 0.5 [A],/ 174.0 26
PREE 1.0 A,/ 3 148.0 1@ 51
BEE (PARE) 1.0 [=] /3 80.0 i 51
T (L B ATV —) 0.7 Ial,/#@| 1,157.7 nd 36
e 6.0 A,/ 50.5 i 298
XU —E 3.0 [, 92.9 m 149
YU —E 3.0 [H],# 39.0 nf 149
il OKEY (AR 05 F |, 2.0 4P 26




Iﬂé mLB 2.0 [A],/ 3 52.0 A 97
| LB (A5 3.0 8L/ 39.0 4R 149
HAH (FAER) 3.0 A/ 6.0 AT 149
AR 0.5 [=],/ 18 1.0 #ffr 26
Z HEEFAPT (RIBRAT, 105 8RRl 3.0 [al,/ @ 105.9 nf 149
A (8- 95 HE1F) 1.0 [=] /i 4.0 »AT 51
S 5.0 | 7M8|  383.0 »fT 246
2 | AL (AR 5.0 [a],/ 1A 8.0 # 246
%mmm@ 2.0 [al,/ 3 27.0 »Fi 97
A ALER 2.0 A,/ 53.0 T 97
y | ErAREEI 5.0 A,/ 50.0 #fi 246
*;t\“/i:é\lﬁlul 5.0 [A],/3H 56.0 4 246
o | FAENY 5.0 [A] 1 54.0 # T 246
Mo bR 5.0 [,/ 3 54.0 i 246
@ s/ Ff

R E 7 1[5y 4HR = HUBE X S5 U (TR 510 45 0) 4 = 115y e B R
TG X5 it Ak yS T VEHAN | 1EIresE | R
£ - hbanZ A VIR HHF 1.0 B4 2,958.9 ni 1
BHEF 1.0 [|,/4| 6,389.4 ni 1
b= LA HHER Y 1.0 [BI/4| 18,693.3 m 1
FhR=E e 1.0 [|,/#%| 9,441.8 ni 1
J R = - 1.0 [|/#| 17,138.8 m 1
R 1.0 =] 74F 927.8 m 1
—— e E 1.0 |4 1,424.8 ni 1
IR FelR s - B gE = 1.0 [\ /4 664.2 m 1
T = - 1.0 [F] /4R 154.2 ni 1
. I # 1.0 [a] /4 335.5 m 1
FhR=E gt 1.0 [F] 4R 43.3 m 1
FEE 1.0 =4 6,389.4 mi 1
e x g PERE 1.0 =], 4| 18,693.3 ni 1
V7 2K R R 1.0 L4 9,441.8 ot I
TR = - 1.0 |4 17,138.8 m 1
T 6.0 [A],/4 13.0 & 6
PA=VES S 6.0 [E],4F 53.0 & 6
> PEAK k- T BE K P 6.0 [A]/4F 265.0 #HIT 6
O KR (FAER) 6.0 [A]/4 3.0 #AT 6
i Mg (AR 6.0 [E],4F 62.8 ni 6
ma 1.0 =l /4 50.5 mi 1
Z BRI A 1.0 8] /4F 56.8 ni 1

@ /) Gt
5 Bith i F i

H = Ehw 1[5y 4 AR = HUBE X S L (TR 1045 0) = 1E1 4> 4 X AR K
H X5 Ak B mAEHAR | 1ESeEE | R
GRS 1.0 [a]5#| 42,238.2 ni 51
YR —/LiER 0.5 [ | 129.0 nt 26




AR 1.0 [ /#| 16,649.9 m 51
Btk (/1h) 1.0 [=] /i 8.0 1 51
ST ANIGEF 2.0 8],/ 8 26.0 I 97
ARk 1.0 [A]38 20.0 # AT 51
il 2.0 A/ 1.0 = 97
BT RS, 0.5 a4 1.0 #pr 26
T == A5 0.5 [B]/iH 1.0 2 pf 26
ok L P 7 0.5 [A]/ 1.0 »pfr 26
[l SIS MR 1.0 =] /3 212.0 m 51
@ /I Ff
R E 7 L[Sy 4R = LB S L (TR 51045 0) = 1[5 5y G A K
TG X it A% B VEHAT | 1ESERE | FREEK F
BBl e 7 B 1.0 [&, 4| 19,763.8 ni 1
AR — /L i 1.0 [F]74F 129.0 nd 1
JI 5 LT Fifr 3.0 [Al/4 1.0 2 pf 3
M K i 3.0 [\ 4 1.0 »FF 3
ok HIL PN 7K BT i 1.0 [5]74F 140.0 m 1
SN HE K P 2.0 [a] /4 660.0 Al 2
SCHI PRI fi 2.0 [A]/4 368.3 m 2
FCHTR WP K 2.0 [B],/4F 6.0 » it 2
SR METE TS T 2.0 [A] /4 425.0 m 2
@ /)
B AR AR Bl AE
HEEhw
EETHE Ak B mEHAL | 18 | FEREK F
eI 2.0 [Al,/# 85.0 mi 97
RIE=—VEAVIH | =% 1.0 [=],/ 34 121.8 ni 51
i 0.5 [F,#| 1,013.2 ni 26
fi (EESEIONRES) 3.0 [al,/3# 4.0 149
%E% & 1H (/) 3.0 Al 38 2.0 & 149
s | ETH 2 3.0 A,/ 1A 6.0 T 149
15 LB 3.0 [ 3.0 »T 149
LY b= R —H 78 3.0 Al 38 4.0 77T 149
FHeA A 7 0.5 [=],/ 1 6.0 » T 26
PiEE 1.0 [=] /i 6.0 #FT 51
f = AR LR 5.0 [\, 2.0 #FT 246
N e ml 5.0 A,/ 8 2.0 #pr 246
;E“‘/’ﬁélﬁlﬂl 5.0 [A]/ A 2.0 » 246
;’ﬁ?iiélﬁlui 5.0 6],/ 2.0 »AT 246
JU | ARV 5.0 Al 1 2.0 # AT 246
® /NEF
EREHE 1[5y 4 AR = HUB X S L (TR 1045 0) = 1[5 5y G A B
BT Xy it sff~y>  Hl W VEHAR | 1BefE | R F




I #5 1.0 [a]/4 85.0 m 1
Eo=— AV | EEEE 1.0 [A],/4F 121.8 ni 1
T = - 1.0 =4 1,013.2 ni 1
I #5 1.0 [a] "4 85.0 m 1
;f};’%@g’ G FTs Py 1.0 |8 1218 of ]
T = - 1.0 [=, 4| 1,013.2 ni 1
é:}:l//\‘\—g»— 6.0 [A]/4 1.0 & 6
fin |77 <k 6.0 [a]/4F 2.0 6
BCH N HE K 1 2.0 [A] /4 11.0 # 2
©® /) Ff
Al it (@O++B+@+B+®)
KEMSR BEWEHTE
H = Ehi 1[5y 4 AR = HUBE X S5 U (TR 51045 0) A= 10140 88 X E K
BT X5y Ak B mAEHAR | 1ESEEE | R F
R LA IRy 1.0 =8| 2,259.1 nd 51
7 — )V ERT 6.0 [=], 18 26.9 m 298
S F—=2 7= 1.0 &),/ 137.4 ot 51
KEfRTV—F 20 | 1.0 [[]@8 342.0 nf 51
PR | J1— 3 NE I #5 1.0 [A]3@ 549.9 nd 51
RE LTV —F 1.0 [|,7#| 1,755.0 nd 51
NEEIR 1 1.0 =] /3 227.0 i 51
15 1.0 [B],/38 49.6 ni 51
= Tl KA E T 1.0 [=] /3 267.2 m 51
(EE A PNRES) 3.0 A1 34.0 & 149
g Ok -Fn) 3.0 [A] 1 7.0 149
i fEaAE () 3.0 [=], 1 30.0 & 149
& e 2 3.0 [H/38|  43.0 7T 149
‘Ef 15 LB 3.0 [\l 21.0 #F7 149
& MUy =4l F8 3.0 [=], 1 41.0 AT 149
T VA A 7o 0.5 A,/ 10.0 #Ft 26
PR X 1.0 [=],/ 38 22.0 1 51
7 VXU —= 3.0 Bl JA 38.4 m 149
Zﬁ AR 1.0 [A],/ i 194.0 nf 51
E VYT —E 6.0 [a1,3H 30.8 nf 298
L 6.0 [, 554 of 298
5| 7 5.0 B/ 58.0 4P 246
o | m s 2.0 [,/ 2.0 47 97
;t“‘/;’éﬁ\lﬁlﬂﬂ 5.0 [al,/ 9.0 246
A [HEHAREY 5.0 [=], 1 9.0 #pT 246
,{ A INVIZ 5.0 [al/3# 9.0 T 246
@ /NGt
EHE 7 1[5 5 S48 = SR X o 55 WL (TSI 90038 O) = 1[5 5y G A K
BT X5y it A% B m SRR | 1Ee%E | FEREEK F
4/6 R+




PERY b A SR e R ) 1.0 [B4F|  2,286.0 m
E=— 2OV | 1.0 [A],/4 479.4

B = LB VIR D v A e | e T 4y 1.0 [a] /4 479.4 m
A —~ MA I #5 1.0 [a] "4 549.9 i
IR 7T 1.0 [|#| 1,755.0 m
@%fi&iﬁfﬁﬁ 1 1.0 [A],/4 227.0 i
15 1.0 [F] /4% 49.6 ni

[ i 1.0 [A]/4 194.0 nf
7=V AKE 1.0 [\l/4F 55.4 i
%II//\“—-&»— 6.0 [F] 4 1.0 &
fih, | PEAK I 3.0 [El/4F 163.0 m

/INEE

5/6 R—

W

it (@+®)

& i (A + B)




REAILIKRFE (AKRRFrAR)BYRUNEMEBREZTLTELR - KBRS

T M 3 &F |

Al i E AR 2

Mt
J0

& 1T HAR SM3E4818 ~ SF443H8318

B[
IH B 48 58 68 7H 88 98 10AR 1A 12H 1R 28 38 =1
B&&ER
EWMER 0
S\ B E iR 0
EHER
BMER F1ROFRFRER.AE. O 0
AHEFERT)
B¥WiER FeROFR (ILA-4—, 70
Teyb, HEK# . BHEKH., 5 (F 0
8. QB CEER))
S EtER F1R0ER EHR7 Iy 0
h. N =, B NIKER)
SEhER FEI3RDFER G, EK)
S EuthiER F2R05% (BN EE 0
JKHt - 1E)
S EthER F2B05%E (Bihialy 0
Bk #t - B1E)
I\ = 0 0 0 0 0 0 0 0 0 0 0 0 0
IH H 47 58 68 7H 88 98 10R8 118 128 1H 28 38 &t
BHE &
KRBREEVMER 0
TEHER
ARBHEE FE1EROFHEK) 0
AERR FEoEDFRF(ILA-4-) 0
ARERER FEIEDFERHEKE) 0
/N = 0 0 0 0 0 0 0 0 0 0 0 0 0
& &t 0 0 0 0 0 0 0 0 0 0 0 0 0
HERRUMAEETROZE
=) Hi




	清掃（理工系） (金額なし)
	理系 (金抜)

